mean # PXL hits vs eta

<pixel hits>

Ratio

3.5

3

2.5

2

15

0.5

=
TT T
i

o
©
al

T 0 1 2

|
w

mean

# PXL Layers with measurement vs eta |

<pixel layers> [

Ratio

N
&)

N

=
1

0.5

FRVA)

mean # STRIP hits V|

<strip hits>

Ratio

—=— DQM_original_step2__pt1to1000_eta2p0to2p5
—e— DQM_mkFit_step2__ pt1to1000_eta2pOto2p5
—— DQM_pixelCPETemplate_step2__ pt1to1000_eta2p0to2p5

18— T T C """
SRS VRN S — +

T S s s Tt Tt
12

R

0.95

<strip layers>

Ratio

10

o]

e A +. .........

TRYA)




	Contents
	Page 1


